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Mechanika gyakorlat 2 eredmények
Neptun kéd NZH1 PNZH1 NZH2 PNZH2 KZH1 KZH2 KZH3 KZH4 KZH5 NZH (max70) KZH (max 30) Szorgalmi OSSZ JEGY

swepN R 4«0 7 10 5 10 21.7 19.2 40.9 1
AOQROB 38 42 53 9 10 10 10 10 33.25 29.4 62.65 3
srvwQo [ 8 10 9.1 10.8 1
A17G8U 57 72 9 10 10 10 10 45.15 29.4 7455 4
K5WAAH 77 76 9 10 10 10 10 53.55 29.4 5 8795 5
AKFO5W 73 92 10 10 10 10 57.75 24 8175 4
GXUZ1J 59 83 9 10 10 10 10 49.7 29.4 791 4
RPXK4U 47 60 83 10 10 10 10 10 50.05 30 10 90.05 5
GYA80V 55 68 5 10 10 10 10 43.05 27 7005 4
W2GZ2Y 42 83 10 10 10 10 10 43.75 30 7375 4
FJGI3Y 49 86 9 10 8 10 10 47.25 28.2 7545 4
GGGCOY 77 72 89 9 10 10 10 10 58.1 29.4 875 5
YG4936 34 40 54 10 10 10 10 10 32.9 30 629 3
13VOY5 47 71 88 10 10 10 10 10 55.65 30 8565 5
LVNBE7 44 74 64 10 10 10 10 10 48.3 30 10 883 5
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